Wednesday [7* June
Task | Find the mass of the
sweets and the bheans.

The sweets weigh kg
The beans weigh 4.

Task 2 Read the scales to
find the mass of each.

The person weighs _ kg.

25kg Task 3 Sophics family
are going on holiday.

Dad's e Mum's
kg Compare the mass of
Sophie's their suitcases.
Sophics suitcase is than Dads suitcase

Mum’s suitcase weighs kg .more than Dads suitcase.

Task & The brown parcel weighs twice .as imuch as the blue parcel.
The green parcel weighs 2 kg .more than 30 kg.

The blue parcel weighs |12 kg less than the green parcel.

Drow .an arrow to show where each parcel would he .on the scale.
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What is the difference between the mass .of B .and C?




